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1. The function fis defined by

£(x) = 5x N 5x -0
2i7x112 x+4
5x
(a) Show that f(x) = ——
X +'3 (3)

(b) Find '
3

(¢) (i) Find, in simplest form, f'(x).

(i) Hence, state whether f is an increasing or a decreasing function, giving a reason
for your answer.
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Figure 1
Figure 1 shows a sketch of part of the graph with equation y = f(x), where
f(x)=1[3x—13|+5 xeR

The vertex of the graph is at point P, as shown in Figure 1.

(a) State the coordinates of P.

(2)
(b) (i) State the range of f.
(i1) Find the value of ff(4)
(2)
(c) Solve, using algebra and showing your working,
16 —2x > [3x— 13| +5
C))

The graph with equation y = f(x) is transformed onto the graph with equation y = af(x + b)
The vertex of the graph with equation y = af(x + b) is (4, 20)
Given that ¢ and b are constants,

(d) find the value of a and the value of b.
(2)
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Question 2 continued
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Question 2 continued
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Figure 2
The total mass of gold, G tonnes, extracted from a mine is modelled by the equation
G =40 —30e" "™ 1>k G=>0
where 7 is the number of years after 1st January 1800.
Figure 2 shows a sketch of G against 7.
Use the equation of the model to answer parts (a), (b) and (c).

(a) (i) Find the value of £.

(i) Hence find the year and month in which gold started being extracted from
the mine.
3)

(b) Find the total mass of gold extracted from the mine up to 1st January 1870.
(2)

There is a limit to the mass of gold that can be extracted from the mine.

(c) State the value of this limit.
(1)
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4. In this question you should show detailed reasoning.
Solutions relying entirely on calculator technology are not acceptable.
(a) Show that the equation
2sin(f —30°) =5cosd

can be written in the form

tan6 =23
“)
(b) Hence, or otherwise, solve for 0 < x < 360°
2sin(x — 10°) = Scos(x + 20°)
giving your answers to one decimal place.
3)
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Question 4 continued
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5. (1) Find, by algebraic integration, the exact value of
4
j S N
2 (2x = 3)°
C)
(i1) Find, in simplest form,
7
x(x2 + 3) dx
(2)
v,
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Question 5 continued
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6. (1) The curve C, has equation

y=3In(>—5) -4’ +15  x>+5

Show that C| has a stationary point at x = TP where p is a constant to be found.
“4)
(i) A different curve C, has equation

y=4x—12sin’ x

(a) Show that, for this curve,

dy .
— =4+ Bsin2x
dx

where 4 and B are constants to be found.

(b) Hence, state the maximum gradient of this curve.

(C))
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Question 6 continued
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7 The mass, M kg, of a species of tree can be modelled by the equation

K
)

S8

log ,M=1.93log,»+ 0.684

J
0’&

i

O
<

where 7 cm is the base radius of the tree.

KKK,

The base radius of a particular tree of this species is 45 cm.

According to the model,

(a) find the mass of this tree, giving your answer to 2 significant figures.

(2)
(b) Show that the equation of the model can be written in the form
M=pr?
giving the values of the constants p and ¢ to 3 significant figures.
3)
(c) With reference to the model, interpret the value of the constant p.
1)

o5 ‘0
Soseutoses

Soravately

) AR 0 A
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Question 7 continued
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8. A curve C has equation y = f(x), where

. (1 T T
f(x) = arcsin| — 2<x<2 —<y<—
® ( ! x} x " <r<t
(a) Sketch C.
@
(b) Given x = 2siny, show that
dv_ 1
dx A - x?
where 4 is a constant to be found.
(€))

The point P lies on C and has y coordinate %

(c) Find the equation of the tangent to C at P. Write your answer in the form y = mx + ¢,
where m and c are constants to be found.

(&)
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Question 8 continued
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0) >
X
P
Figure 3
Figure 3 shows a sketch of part of the curve with equation y = f(x), where
_1
f(x) =x(x*—4)e 2
(a) Find f'(x).
(2)
The line / is the normal to the curve at O and meets the curve again at the point P.
The point P lies in the 3rd quadrant, as shown in Figure 3.
(b) Show that the x coordinate of P is a solution of the equation
1 Ly
X = -— 2
5 16 + e
C)
(c) Using the iterative formula
1 1x :
%0 = oV 4t Wity =2
find, to 4 decimal places,
(i) the value of x,
(i1) the x coordinate of P.
3)
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Figure 4
Figure 4 shows a sketch of part of the curve with equation
y=(1+2cos2x)’
(a) Show that
(1 +2cos2x)’=p+ qgcos2x + rcosdx
where p, g and r are constants to be found.
(2)
The curve touches the positive x-axis for the second time when x = a, as shown in Figure 4.
The regions bounded by the curve, the y-axis and the x-axis up to x = a are shown shaded
in Figure 4.
(b) Find, using algebraic integration and making your method clear, the exact total area
of the shaded regions. Write your answer in simplest form.
)
J
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